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INSTRUCTIONS TO THE CANDIDATES

1. The admission to the examination is provisional
In'the event of any.infermaton fumished by the
candidate found false /incarrect / incomplete
atany stage, the candidature shall be rejected

lesinthe OMR answer-sheet
Blaek /'Blue ball point pen
kening shall not be evaluated

3. Darkening two or more circles completely /
partially shall not be evaluated.

4. Changing the darkened circle in any mannar
putting ‘X" mark / using white fluid / erasing by
rubber / blade etc. shall not be evaluated

5. This question booklet shall not be opened until
- instructed. Write your Roll No. correctly in this
booklet as well as in the OMR answer-sheet

6. The candidates should carefully check the No
of Printed Pages, Questions and their Senal
No Incase of any discrepancy found, exchange
the defective one and collect another correct
one from the invigilator within 5 (five) minutes
and thereafter no complaint shall be entetained

7. The examination shall be conducted as per
the Odisha Conduct of Examination Act 1988

P,

OA - 1B/167

-~

(Continued)



Dhruv Vashisht
Rectangle

Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp

Dhruv Vashisht
Rectangle


- DA~ 1B/151

OTET — P-Il16(2nd)

(SET-B j

~ ~ - ~ 5 OMR %6
g6oie gga Ql6aIf eaa FIQIRE | 6Agee Aug 0Q aeady @@ oM
Q°g8 9FQ Q1P / @91 Q] A¥E YAN QG A*gd N6 @R @4l |

Each question has four alternatives. Choose the correct answer from
among them and darken the appropriate circle completely in the
OMR Sheet with Blue / Black ball point pen only.
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698 S8IQI9-88¢ 08 2oy Heald
olQ & ?

(A) zieRieel
(B) egql

(C) Uy
(D)~ adieand
6g41626Q TLIAQI ANGER AT
AT QIdiealg 621R2I ;

() 9o 'R goIe

(i) QRuee

(i) 99 819 a|

(iv) 9ATER RURILAE

€ QIYQER 699 SAER FRULIQEIN ?

(A) i, i, iii, iv
(B) v, iii, i, ii
(CY7iii, v, i, ii

(D) iil. i fv

(2)

Which teaching-learning method is

different from the other three ?
(A) Discussion
(B) Description

(C) “Hlustration

(D) ©bservation

While téaching in the class teacher

has to perform the following work -
()  Presenting new knowledge
(i)  Evaluation

(iii) Previous knowledge test

(iv) Arriving at the topic

What is the order in which these are

done ?
(A) i, i, iii, iv
(B) v, i, i, ii
(C) i, v, i, ii
(D) i, ii, i, iv

.ff\ftinl [T OR
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3. 6R66 JAIERe 99 Q1264 ? 3. Which one is an example of

evaluation ?
(A) Qoueae Ade aadl HIel- (A) Assessing the monthly school
COa test answer books
(B) Assessing the [ Y
(B) 6.&. a. . aqidl ¢I9l 69 answer books

(C) @. R, 96. aQIal Sliel 6ad (C) Assessing the D. El. Ed.

> answer books
D) ~ang 6qledT gee (D) None of these
4. 69a¢ q{a@am@la @ AR 968 ? 4.  Which one is not a characteristic of
&) 53gdae creativity ?
~ (A) Divergent thinkin
(B) 641@29I : ¥
(B), Originality
(C)6QrIGgs 93¢ v’ -
(C) ¢Convergent thinking
(D) Qa1 :
(D) Flexibility

5. @6 ) & 3 de id
| I8 69 Yl IRVER FlIRd@ @I 5. In which of the following learning

SQEEINHR ¢ processes, more mental operation is

(A) adicemd necessary ?

(A) Observation

“(B) @aigg N
(B) Experimentation
(C) ugead
(C) Imitation .
D - I.
()/Q?GWG’QG (D) Indentification
oAwaSY (4
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(A) QgAML
(B) 6SQ!

(C) 48310

(D) QUIEQaQ!

69a0 gIQ-6868I0 Zegica Al

49 R84 968 ?

@<

X

(B) Pe of 90 Qo gId

(C) QI 84 9¢ vge 4eId
=ralal]
ity 3 el i

-(.D) gfign @ @6 ABYRIAA Al

Qg @89

(4)

6

Qi) =iy
(EET -B ]
Which is not a characteristic of a
good test ?

Reliability

Validity

(C) Subjectivity

(D) Usability

A

Which is not a characteristic of the

learner at pre-adolescence ?

(W QIdigd aeua 9f a*a d danmcting others towards own

work
(B) Submissiveness towards own
group
Desire for new things
(D)

Desire to achieve the goal

without labour

(Cmmbia. o a
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geqd @8 @endag 6QITY AIREQD
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QRRIP RITIAI | 6 dahr) AWGER
FIQAIRE QIUAIS 8 Q67d dA6D1d
ARIGEQ 2PARR FIUAIR 6R6R | ARE,
G4 @faQl glRen & alelqy
cQglide ?
(A) Q68 Fga AR AR
QETIHIQ ARIFINOIQ GF 62
(B) 46Qd Gg@ Q@GR QIR
 enea ARIFINOIQ AR 629
(C) wae dda 8l AIIAI QR
7 o -

' ‘D) Qs 8da el AIRAIR QA9

€99

QA-1B/151

(5)

Vil = T"_IH’ID(&“U’

(ser-5 )
According to Spearman, intelligence
consists of two factors general
factor (g) and special factor (s).

Which of the following Venn-diagrams

represents it ?

ZNOIO
® (50 ~}

> G-

S

S

Suresh and Ramesh were asked to
calculate mean of tabulated scores
BY" the short method. Suresh
assumed the mean at the lowest
class interval where as Ramesh
assumed at the highest class inter-
val. What difference will be seen in
the mean determined by both ?

(A) Mean determined by Suresh is
greater than Ramesh’'s mean
(B) Suresh’'s mean is less than _
Rames’s mean

(C) Means determined by both of
them are wrong

Means determined by both of
them are equal

(Continued)
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1. QARIQE0s 968 2]A 6gd1a 8IQ
ISR 699 Adyigeq aoBed ?
(A) 2N Ry
(B) 98 Qg v
(C) gie-6cFediaieg

(D) ceqiQUIgl

OA - 1B/151

(6)

: heor
10. Which statement on

ML,

_ P-l1DLLry

["'SET -B )

OTET

ies of

learning is correct ?

(A)

(B)

(D)

According to ‘Trial and Error

theory, goal is achieved after
many fruitless trials but
according Insightful theory, goal

is achieved without any trial.
According to Insightful theory,
goal is achieved after a few
attempts but according to “Trial
and Error’ theory goal is
achieved after many trials.
According to both theories goal

is achieved after many trials.
According to both theories goal

IS achieved all on a sudden

after a few trials

What stage of development g class

eight student nomally reacheg 7

(A)
(B)
(C)

(D)

Early Childhoog
Late Childhood
Pre-adolescence

Adolescence

(Continued)
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13.

14.

@€ Qe ?

(A) ameé gaer

o(B) FRUIBR gIaRT

(C) aIoy Fgsega A°BY Fead!

(DY agaé asas@-t@ agt

QA-1B/131

(7)

,‘"\q\,‘““n RIISTRIRTH 1”1&“;' Wi HH,' (4~ ‘](“ 12 Which of the fO”OWlng IS dan effeCtW(:
WO @ 8196 QUK 7 teaching method from individual
o difference point of view ?
(A) GollW'™ (n\'&}('\”h'nl GV Bl RD0
(A) Class-room macro-teaching
(B)  Quausion d@ienaiay 6l
(B) Teaching gifted children in one
CHAIR N/
class
(C) UMW Q& Qe D104E (C) Teaching all children based on
2GSRI same curriculum
,(D) 9664a d@e1a adol 6 (D) Teaching each child according
QAR ZIMIGE GaIQe to their need and ability
6906 SRR Hef @69Ia 992 13.Which is the formula for calculating
the mode ?
Ay 3 ARIAN - 2 IICIR nemo
A) 3 Median -2 Mean
(B) 3 qlel + 2 QIR a
3 Median + 2 Mean
(C) 3 AIAIR — 2 Qe :
3 Mean - 2 Median
+ » .
(B 3 RIS ¥ FRE (D) 3Mean +2 Median
9w QI 990 6@ha dIoIRIER 14. Which is notthere in the lesson note

prepared by a teacher ?
Learning topic
Evaluation questions

A brief note on the topic

Teaching-learning materials

(Continued)
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(A)  BEQREAIGY OQINE QD GW
6

(B) QN9 QgRY AQINE 6Wl TIES

(9) RN QNG AYQ HRQCKIGIY
2l6e

(D) QN8 ARRCAIGY ANNE VGRS

e[\

16. QERUAINT SQUAININY FR1Q1R

FO62 999 Q'@ QAR TS ?

A) FRIANNS gg A9IB6e
v’ (B)

(C) QeI g AQINER

(D) Qg

17. 6QIG6Y 9§ €Q@ 6d§e Qewdy

A1 A9l G168 gge QAIAIRAIN,
Q4@ Q121 6a? Q6N ARG Q6Q,
6069 Q12| gqa 6QQ 91_61@
gelQed ?

(A) 6RO
V' (B) &qawael
(C) @gRIC!

(D) eaeadsl

Ask
IFYPRRR® gg A9IGeS a d & a
estions

(SET-B )
ntis

UIE

' eme
{5 Which of the following stat

correct 7

i ays
(A) A reliable test is alway
valid

(B) All objective tests are valid

(C) A valid test is always

reliable

(D) Allreliable tests are objective

16. What should a teacher do to teach
the gifted learners ?
(A). Ask inquisitive questions
divergent thinking
Ask analytical questions

(D) Allofthese

17. If a test measures the learning
objectives for which it is constructed,

then it indicates which characteristics

of the test ?
(A)  Validity
(B) Reliability
(C)  Objectivity
(D) Usability
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18. T6ga 6096 99998 999 1@ Avd 18. Which of the following is not a

characteristic of multiple choice
Q6L ?

questions ?

(A) S8 @eagy@ OF A= FEIdey (A) Alternatives appear plausible

(B) @¢2na6a OR Fnilgn 62162 (B) Correctevaluationisdoneina

a e . short time
(C) @Fegaine AUQ 6615 0 2@

(C) Only one option is correct out
el
of the alternatives

4D) 2498 A2@6Q 9]e Wl (D) Test items are easily
IR |66l constructed
19. Govieg @DYRde 9909 s Acaa 19... What is the main objectives of pre-
Q6 ? paring the school time-table ?
(A) caha @by anag AR (A) Distribution of daily working
Qe time in periods
v
(B) FRIOIN 0068 FARNIeE AIER (B) Distribution of subjects among
g;'% e teachers for teaching
" () 6 Go2eoid Gads dee (C) Distribution of different
Qg | subjects in different periods
‘ (9 p— (D) Allofthese
NA . 1RI1R1 o A (9)

(Continued)
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(SET-B
20. With which theory of learning Is

20. 604 dma o wfe cwicenaq
Kohler associated ?

(C) Operantconditioningc”mw{ 52‘,

(D) Classical conditioning( pavloY)

QAo ‘
&0 7 A e

(A) gQg 6 gaie (A) Trial and error ‘- ,

(B 2aq o B) Insightil { K3h | "’"‘”)

(C) Q8e agee
(D) <lsam goea

21. 60@6 RUITD 6RIARAI PNIONQ 21. Which is the formula to calculate the

AlIAIe Sga 99 ? mean of ungrouped data ?

s X
o R w =2

X . X
® N B
C) = ELN
© 3N © N
(D) ﬁ- (D) %

22, QINQT 1660 GRASIR QIdY, SAINAER 22. According to Walse creative work is

QIGEHIT GR6a AR 6RIQAN | ¥2IQ done in four stages. What is its
692 965 @'q ? fourth stage ?

(A)  ayaiRe (A) Incubation

(B) ?J%ignf: (B)  Ilumination

) QBYel RRae di
€ (C) Validity determination

(D) @ogige '
| (D) Presentation

. ‘ (CQnﬂand)
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W9 Q99 AN 6RGea 9@ 0.70 |
E aQISEQ AIEA0 QIR [IRE
Q'@ 6N PQIQAIRE ?
oA) ST VRO Y°FIFYE QIQ
aRIee
(B) QY890 QIQeny afised QIal
a[all8
(C) MBCIO VRGN AR 956d @
RGPS QR g
(D) QuaGIe Qe 98 6 QQId Qe
geuee
F67)19 629 984 Gan 9@ geaIdy
AMIQQ A2 ARPO ?
(A) 9g%
»(B) zgeee
(C) ugae
(D) oege
1B/151

(11)

23.

24.

OTET - P-1/16(2nd)

From an experiment it is observed
that the co-efficient of correlation of
intelligence of identical twins is 0 85
and the same is 0.70 for fraternal
twins. What does it indicate about the

individual difference 7

(A) Individual difference.is influ-

enced by heredity.

(B) Individual difference is influ-

enced by environment.

(C) Individual difference is influ-
enced by-both heredity and

environment.

(D)™ Individual difference is influ-

enced by growth and

development.

Which of the following law of
learning is associated with doing the

given home-task ?
(A) Readiness
(B) Exercise

(C) Conditioning

(D) Effect

(Continued)
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(A) AFE MY FRIQE, ITARY PAR,
Qde ggb 6 ggRee
(B) Qe g9, 494 8y 14,
ATORY 90N 8 ggRAHR
(C) Saaegoar, d3¢ A AR,
*de 9g% 6 ggfse
(D) da¢ aay daied, 9,89 995,
AEANY 9AR 8 ggMER
26. 691G g€ daudicieg dose
dQIgl @QUSR! | GIFITqEea Fiel
8 QlFIe Gda RAAQ 6Q6ICRIMET

AIRIAIR, AAAI 0IQ K6 ZNS | €2

69 d8I8 FUILIQ Ife ?
. 2
(A) cdicea eIl dRIT Ayl
NG
(B), adioeq ga@ GRIT Qoel 2R

(C) aéicea enial B 99a dniw

eyl Aele

(D) ea168 deis Brigiaade
i)
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(12)

B

o) - —m '

f
25 What is the correct order o

?
preparing an achlevement test

(A) Identifing learning objectives
selecting content, preparing
blue-print and writing testitems

(B) Preparing blue-print, identify-ing
learning objectives, selecting
content and writing test items

(C) Selecting content, identifying
learning objectives, preparing
blue-print and writing test items

(D) Identifying learning objectives,
preparing blue-print, selecting

content and writing test items

26. Pupils of a class were tested in
Mathematics. Median and Mean of
the scores were calculated. Mean
was found to be much greater than
median. What inference could be

drawn from it ?

(A) Number of intelligent students

in Mathematics is more

(B) Number of less intelligent

students in Mathematics is

more

(C) Number of intelligent and less

intelligent students in Math-

matics is equal

(D)  Noinference could he drawn

[ g Py
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QMG QOIE G0 FIRE AL 0IQ

2Rl a
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'QQ@ QO QPR AR RS 0IQ
@ |
(C) e o Nee 6gid anIe |
(D) ee Qg 5@!9.89 ‘% @UERQ
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27 Some students were divided into two

groups and were given a test. Scores
obtained by the first batch of students
cluster round the mean score where
as scores obtained by the second
batch were away from the mean

score. What can we say from this 7
(A) Standard deviation of the
scores of the 1st batch is

greater than the standard

d d aeviation of the 2nd group

(B) Standard deviation of the
scores of the 1st batch is less
than standard deviation af the
2nd group.

(C) Standard deviation of the
scores of both the groups are
equal

(D) Nothing can be said about the

sta_ndard deviation
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30.

(A) rdee

(B) ©ficee /
(C) gése
(D)-"{m

oa-test

P

(14)

OTET - P-Il/16 2nd
‘ SET - B
28 Whatis notthere in unit lesson plan ?

(A) Pupil's ability

(B) Objectives of leamning sub-units
(C) Number of periods necessary

for each sub-unit

(D) Teaching-Learning materials

29.  Which of the following method is not

useful to identify gifted learners ?

(A) Achievement test

adda-=-

(C) Intelligence test

(D) Diagnostic test

30. Which of the following is mainly
associated with learning proc.éss 4
(A) Re-inforcement
(B) Environment

(C) Training

(D) Allofthese

(Continueq)
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dIOE @4 eI, Q191, 9F, gee adie
AF6L QIDIR PR6R 6L UICTAR YELIE
? 91960 671908 | 9INQ ARIFIFINER
PR PG TI0 VA FEIYIN 6QFNFPTA
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JIeAeEIRel FIRe §190a A6

Q& 6QIM AERT0 6INAR |

2066 ARG 1909 R ATe JET
FAULIQAER ?

(AY g9 9@

(B) QQuigh 4G

(C) Qauglan

(D) e

YETAIER MIFR RN ARIS 68G6R
RILIP PORQED g6 908 ?

(A), 29183 4

- (18)

48.

49.

50.

OTET - P-Il/16(2nd)
(SET-8B

(B) @¢gedQ!

(C) ZARGQIIFT!

(D) Qgaaqd

AR1Q gIE 696 SFRRER ST STER
gagIo @aaIe ?

(A)- ZIRieqis 69

(B) dqae «ad W

(C) <Iayad

(D) 6dla 69

P19QR 671QAE QIR RIQIG PLILIRR 7
(A) Q86 5a

(B) geqiaxia LF

©) 2UNHTQ geails

(D) QfIF6QS

AINQ SRR 69QE AFOIQ AR G ?
(A) QAR

(B) @ue gavel

(C) 6QRIYAG! \/

(D). I9AAQ1R!
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( SET-8B )
(B)  Amie cORG aal
(C) Yl rhlilbte CIrl
(D) @ikl il
OUGHEH Y900 gada Qe @
AOWIQ QIRJG 6RIRNLIN 7
(A)  dafewa Q0w QEG! Q&
(B) GRIAINWE MG G0 9a
(PaRAIRGa ARG 0% g

(D) diIRee QERIR 9@

AERIND GY CuIR @faIR
52. 69QG ARIVIN-S8E JEAR 6

(A)  CIOigaR
(B) dae
(C)/?ﬁ@qnsh

(D) Q048N

v

53, Q6019 6990 8¢ AR6a SRIgRE @R
ad zige qiesa I ?
o(A) due-68Re ol

COA- 131151

6RRC QAULD 6L ?

(A) Q9969 688 QEQAID VLA
gge @QUde |

(B) gga feda qFa aasia 8 aae
QVEQ ENGHTR |

(cﬁéﬁ]a TR QNP PR

(E) RANEA JEQUR AUVXE AIQI1910
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61.

62.

63.

- (C)

D

(ENGLISH |

He treated me

(A) gentlemanly

(B) ingentlemanly manner

(C) inagentleman manner v

(D)~ina gentlemanly manner

| will see her tomorrow

(A) by hook and by crook
(B) byhook and crook
(Cle by hook or crook

(D)¢ by hook or by crook
Pt. Jawaharlal Nehru
“The Discovery of India”.
(A) had written

(B) iswriting

will write

-'(:D,)/ wrote

YA A EA

{42\

64. Which of the follow

65.

OTET — PI16(2nd)

ing sentences is

correctly punctuated ?
(ly Day said to Night, “1 bring God’s
light”.

(B) Daysaidto Night [ bring God's

light. v

(C) Day said to Night, “i bring God'’s
light".

(DymRay said to Night, “l bring Gods
light”.

My grandfather is very keen

travelling to distant

places.

(A) in

(% to

(C) by

(D@ on

I o T




66.

67.

68.

The teacher asked the students

(A}bg was the novel quite interesting ?
(B) the novelwas qulite interesting.
('(.3) whether the novel was quite
interesting.
(D) whether

was the novel

quite interesting ?

The young girl wore a wonderful

Indian __- necklace.

(A) black
(B) new
/

(C) costly

(l;y diamond

[, who a teacher, need

to be more duty conscious.

(f@’is

3(Bﬁ am

(C) are

‘ .(D) ‘has

™A

,".Anid.ﬁﬁ& i

{43)

69.

70.

.

OTET - P-III16(2nd)

In order to stop deforestation every

Indian family must have __

LPG connection.

(A) a

@) an

(C) the

(D) some

The queen didn't have a natural

death. She
(A) “murdered

(B) had murdered

P\
(C)" has murdered

(D)/Nas murdered

In a dialogue practice

are taken care of.
(A)/Jistening and speaking
(B) speaking and reading
(C) speaking and writing

(D) writing and listening

{CAntim o



72

79

Identify the statement which is nottrue .

(A) English is an international
language.

(B) Learning of English is important
for pursuing higher studies.

(CpEnghsh bridges the gaps
between speakers of different
mother tongues.

(D.) English hardly finds its placeat
theé centre of all international
activities.

Reading for comprehension can be

best achieved if learners

(A) speak words softly while read-

ing

: (_B)/. read silently

(C) run fingers or pencils under the

lines

At ; '(_D_.) read the text aloud

e i

74

75.

e
(seT-8)

3 WOIC
The phonic transcription of the word

‘call' iI$ ———
ISR

B) /koll

(Cp 1K31/

(D) /k3:1/

Note-taking helps the learners to
develop their .

(A) listening and speaking

(B) ~speakwng and reading

(Q) listening and writing

a d d a reading and writing

76. Teaching grammar should focus on

(A) rules of language

(B) forms and structures of

v

(C)/communicative functions of

language

language
(D) both structures and rules of

language



it

78.

mt the following lines in order and

get a poem.

But the ships that sail across the sky,

Ships sail in the seas;

Boats sail in the rivers,

Are prettier far than these

The test item in the box is of
YDy

(A) matching
(B) multiple choice v

(9 sequencing

(D) completion

Using correct ‘stress’, ‘intonation’ and

‘pause’ comes under the subskills of

(A) listening

asiasaEs o

79.

add

OTET - P-1/16(2nd)

(B),speaking

(C) reading

v

(D) writing

Non-detailed texts develop

(A) intensive reading

v

(9 extensive reading

(C) critical reading

a slow reading

80. To follow directions given orally is an

(45)

ability in

(AQ listening
(3)« speaking
(C) reading

(D) writing

(Continued)



e e .

Read the poem carefully and answer
the questions (from 81 to 85) choosing

the correct alternatives given :

Great, wide, beautiful, wonderful World,
With the wonderful water round you curled,
And the wonderful grass upon your breast-

World, you are beautifully drest.

The wonderful air is over me,

And the wonderful wind is shaking th~ tree,

it walks on the water, and whirls the mills,

And talks to itself on the tops of the hills.

Ah !'you are so great, and | am so small,

[ trembile to think of you, World, at all;

And yet, when | said my prayers today,

Awhisper inside me seems to say,

“You are more than the Earth. though you
are such a dot :

_Yoﬁ can love and think, and the Earth

cannot !

81 The poem is about

(A) the wonderful water

b

P

- OA-1mi5t

82.

83.

84.

. (48)

OTET —P-I116(2nd)

SET-B
(8) the wonderfulgrass

(C) the wonderful air P

i
"

(E» the wonderful World

Who talks to himself on the tops of
the hills ?

(A) The poet
(B) Thetree /

(C)- Thewind

(D) The hil

Who is described very small in the
poem ?

(A) gThe Earth

(B) | The'garden /
(C)L- The poet

(D) The World
The poet has used capital letter ‘W'

for the word, ‘World' in the poem

because he considers that

(A) the world is wonderfyl
(B) theworldis very great

(C) theworldis a person

(D) theworld is very important

(Cantin i




85.  Which of the following is right according

to the poet ?
(A) The earth canlove and think.
(B) The poetcan love and think.

(C) The wind and water can love

and think.
\/

(D) The World can love and think.

Read the passage carefully and

answer the questions (from
86 to 90) choosing the suitable

alternatives :

‘Worry can be a killer’ has been
proved by many medical researches
as it is a major cause of heart
ailments, blood pressure,

rheumatism, ulcers and many

psychosomatic diseases.

Out of several causes of worries, the

fast paced and complicated life style

OTET ~ P-I1116(2nd)
( SET- B |

that most people are leading today
contributes largely to our anxieties,
Shortages, fears, competitions,
dissatisfaction — everything adds to
the burden on our minds. Some of
these factors may be uncontrolled
but most of them are within our
control.

Plato, the Greek Philosopher said,
“The_greatest mistake physicians
make ig that they attempt to cure the
body without attempting to cure the
Mind. Mind and body are one and

should not be treated separately.”

Emotions like fu‘ti‘lity, %rus.tration,
anxiety, worry, fear, despair, defeat
etc. are negative emotions. These
affect our mental as well as physical
health. Worry, especially, creates g

very high degree of tension. Many g



time we find ourselves unable to

concentrate due to worries. Only a

cool and worryless mind functions

normally and to its capacity.

86. Worry is said to be 'a silent killer’

87.

R

because
(A) itis poisonous

(BL- it causes many serious

di /
seases

(C) /itcannot be controlled a

(D) itmakes the man worried

Which of the following largely causes

worries ?

(A), The fast paced and
complicated life style

(B) The psycho fear

(C) The big competitions

The dissatisfaction

88.

89.

80.

{AQ\

o(A)

OTET - P-I/16(2nd)
SET - B

Plato said that ——

(A) mind and body should be
treated separately

(B) mind should be treated first

(C) body should be treated first

(Q) mind and body should be

Rl

treated at the same time

A very high degree of tension is

created by
A) our concentration
egative emotions

(C) worryless mind

_(Dpprourselves

Which word in the |ast paragraph

means ‘uselessness’ ?
Futility

(B) Frustration

(C) Despair

(D) Emotion



91.

92.

83.

Y

OTET - P-Il/16(2nd)
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Q8o 9Q° ARIR

MATHEMATICS & SCIENCE

@66 819 €01T9 Q@R QEee @
Qer10e fda @AaIRRts | 6069 64
dio mIa 6o 6380 QEQYY AN
@Q83 ?
(@ RIS

(B)r ey

Gy~ geae

(D) 6@NER

6Re0 cde d8Ia 2858 QRN

6389y g6¥ ?

(%‘Gﬂll Q8!

(B) H&|0!
(C) Aa]Qa
(@/qﬁq UQANS

AQIQIP0 6FR 9859a ANA Q6N @

QUE Q16aa ?
(A) Qeqgué 6 Q6qad

(B) zieaiR s nosae Vet
(@ a8 goe

(D) Qeqsa 8 TicaIRg

A gk da o D e e

£ AN

91.

92,

93.

A child is able to determine multiples
and factors of a number. What objec-
tive of teaching Mathematics has he
achieved ?

(A) Knowledge

(B) Understanding

(C) Application

(D) Skill

Which is. not a.characteristic of
internal pattern of teaching
Mathematics ?

(A)
(B)

Counting numbers
Exactness
(C) Specific sequence

(D) Precise expression

Which two methods of teaching
Mathematics are time consuming

and expensive ?
(A)
B)
(©)
O)

Analysis and synthesis
Inductive and deductive
Play-way and project

Analysis and inductive



94. 968 Jue 99 64d616Q Q6L

85.

96.

drIea 6adl g gaie Jdase |

¥gaIR 69 697 AURAE AL
@69 ?

(Ay QQF 6d56aIAIQ

(B) @Iq B 6gIgIqQQ '

(C) 6%m G LRALQ

(D) 69I9I9Q B 691G 6AELILIAR

U 64¢ 160 RMITTC QUAINQ YRR
gelel d/IIe Ge68 60 080 AR
IRYRD ?
(A) 2ICAID1 B 2EAL1T
(B) ulcqual 8 Gegadl
| o
(C) UL B A°6gT&l
(D). Q6484 6 a°cqae

2l‘l+4__2x2n
2x2n+3

+2‘3}a ale
6R60 ?

-2

®) 2h+1ﬁ%

P

@ -1

94.

95.

96.

OTET - P-11116(2nd)
(SET-B )

Ateacher is required to teach how to

draw a pair of parallel lines in class Vi

What instruments should he use ?
(A) A pair of set-squares
(B) Compass and protractor

(C) Scale and divider

(D) Protractor and one set-square

What methods of teaching are more
effective for teaching logical proof of

geometrical theorems in class VIl ?
(A) "Inductive and Deductive

(B) Inductive and Analytic ‘

(C) Deductive and Synthetic

(D) Analytic and Synthetic

What s

{2n+4—2x2“

value of

2x2n+3
(A) 1_2n+1

(B) 2n+1_1

Co



a7.

98.

89.

ad a’+ 1= a,606@ a® + :ﬁ +1@
IR 6W60 7

(A) 2

® 3

(C) -3

FOREe AENINE AUQ 6RNE IR LERNG
26%' ?

(A (2x—1)° % dx(x— 1) + 1

(B) 5(x+1)+4=5~(1+3x

(C) 3(x=5)=x+3

P66 6RIRIAT CRITNY QGQ, Q€I AR OIQ

(D) 30x—6=6(1~5x)

25% U@ QF @gF eaea endien |
AR FNEIER 69 MY QI AAER
10% QIO 6Qem | Q¢ @gde 2,700
eRIen 98 eQIReN, 6069 gha

@6l QIR 6QE0 TR ?
(A) 2,000
(B) 2,200

(C)}-2.400 v

(D) 2,600

i Ed N

87,

08.

89,

OTET -~ Fi-_l!ﬁ 6(2nd)
| SET-B |
Ifa’ + 1= a, then what is the value of

. 1
G
a’ +

a(}

+ 17

A) 2

Which of the following statements is

an identity ?

(A)  (2x—1)%=4x(x—1) + 1

(B)L N6 (x ¥ p+d=5=(1+ 3x)
3(x-5)=x+3

~6 = 6(1~5x)

A shop-keeper marked the price on
an article at 25% more than the price
he paid for it. He allowed a discount
of 10% while selling it. If the article
was sold by him for Rs. 2,700, what
price in rupees, was paid by him for
buying the article ?

(A) 2,000

(B) 2,200

(C) 2,400

(D) 2,600

[1 ey




100. 6cl6d four oaoh 2o QR 2 9d6R

101.

102.

(B) <IOR(Regq
: (C)' aqig qee 99

12,960 ¢@1 6 3 9d6a 13,176 o<l
@ QuER TGEO P4, 6062 990!
QTR QU 210 6960 ?

1

(A) 13%

1

2-9%
(B) 3 %

{C)/1—§~% \/

6AIPD Q°¢yl DRI PRIAIG ? 9@ ggE

6Q% 6380 Q6LEY A06R ZIGE a
(A)e @io
(B)

(CYy geaia

(D) qRuIBe

e€Ql )(

aéie S81RIe QIR 90 TI0Y 6QINRIER
6960 @ &I ?

(A) 86 acasy

&

Y ﬁio ¢!

OTET - P-l/16(2nd)

( SET-B)

100. A certain sum of money at compound

rate of interestamounts to Rs. 12 960
in 2 years and to Rs. 13,176 in 3
years. What is the rate percent of

interest per annum ?

1
1_3'" D/O

1
25%

2
1?3-%

(A)

(B)

(C)

224,

D) 23

101."What is-called a prime number ?

102.

hat instructional objective is it

3

(A) Knowledge
(B) Understanding

(C) Application

(D) Evaluation

What is not there in the lesson

plan prepared for teaching Math-
ematics ?

(A)
(B)
(©)
(D)

Learning objectives
Formative questions
Summative questions

Scheme of lessons



103. 600 98¢ 980 d810196a ‘@94 QI

104.

105.

106.

089’ 996 ANe g6s ?

(A)/%i@@ 2P AR Q23
(B)
(C)
(D)

Idoe @6 ?
(A) @66 698 Q¢

(B)” 6180 d96 Quaad
(C) 96 @R ZIRa Mdal 9]

(D) @éie d8IQIRa gl

F6fle 64 68Q6Q GEe TI0IYeR

7]614e8 d9QEe 2109 62IR2 ?

oy

(B) ey dEagee d9i0 AA@ 2199

(A QI04-6QA1 L5

(CP daiQiq a8l 61

(Dyy dNE QUARER QLI

§¢ OG6rf QUIAIRE IQ XA

Qg Q°GHI Q6L ?

13
(A) 35

=13
B35 A &
e
Sy oz

‘15“51

e ¢ dgel 9ela qgemé‘\/
dgidie 2990 QU6 ZlMIGe

dgiehicieaa 489 2°8 god

A

(53)

OTET ~ P-1/16(2nd)

103. Which statement in not related
with activity-based teaching Math-
ematics ?

104.

105.

106.

(A)
(B)

(©)
(D)

Teacher is more active

Teacher and

cooperative

taught

Based on the pupils experience
Pupils active participation

What is Napier ?

(A)
(B)

(C)

(D)

Name of one Mathematician

Teaching-learning aid on
Mathematics

An instrument for measuring
the size of a distant object

An approach to teaching
Mathematics

Inwhich of the following cases, a text-
book in Mathematics is mainly help-
fulto ateacher ?

A)

(B)
(C)

(D)

Preparation of scheme of
lessons

Correlating with other subjects

Identification of teaching
method

Use of teaching aids

Which of the following rational num-

bers is not a fraction ?

(A)

13
35

-13

B 35

(C)

(D)

7
18

0.37

~ (Continued)
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@g;; . . ber
10; . 6 -' I’

QI2IQ U 9a6 A 6F1RQ 86T ?

of two digits of which both the digits

are also prime 7

e (A) 13
B) 17 -
(Cy” 23 S ©) 23
(D) 37 (D) 37

108. 699 QO A°GIQ QAGES 4 6 3 QA 108. What is the smallest number double

“ P th
NGIER, YEOIR 6HQER NITEHT 2 94 of which when divided by 4 and 3, the
remainder left in each case is 2 and
NQ° 7 Q19 QUOIRER RUGEST 1 297
if itis divided by 7, the remainder left

“ 4 s 17
S B A 20
(C) 30 ®) 25
(D) 32 , (C) 30
(D) 32

109. Ae1QQd 2(x - 3) + K = 7 60 291 K @

R4 694 Ainaiel anieaga anmie | 09 For which of the following values of

K. the equation 2(x-3)+ K = 7 will

1629 |
| have 1 as its solution ?
A) -9
. (A) -9
®) +9 / B) +9
€ -1 (C) -1
©) +11, - (D) +11

mﬂmeIS‘t Vo . ‘ (EAN



110. RGN 600 Qa8 YeaIe1 afenfielqe 110. The product of which two first

Qaae 2x° + 4x - 6 6 ? degree polynomials, given below will

(A 72(x - 1) 8 (x + 3) be 2x° + 4x — 6 ?

B) 2(x+1)8(x-3) i (A) 2(x-1)and(x+3)

(C) (x+1)8(2x-3) (B) 2(x+1)and (x-3)

(D) (x=1)6(2x +3) (C) (x+1)and(2x-3)

~ 0 (D) (x—1)and (2x + 3)
111, O OQ6Q G6RIT AU 088 | canIee

ARIQ QESIAR 69T 64T QIgQ 111. In the given figure, there are three

¢Sy Q21Q6e 10 §. 6 & 6 3G squares and the length of one side

& of each ofthemis 10 m , 6m and 3m
626R, SIAIEE 6898 CRQTR 6966

respectively. What is the area of the

a d d aded figure in squre metre ?

Qofiea ?

%
7 Y
% Y
= 74 Z %
(A) 136
(A) 136
Yoy 127 (8) 127
QB8 it ' (C) 109
©) 45 iy (D) 45

L OARSBIET (55) (Continued)
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112. O is the common centre of two

& 564q. id. 6, QIR E| _ i
112, Q@& 564, {1. @ 6 6d. 1. AYIQ \ic circles with radil 5 cm and

concen
6 cm and AB is @ diameter of the

oint on the

R 6GLe @aa AlRIQd 6@g O 1Q°

QYRR AB Y& QUIC | TIRN0R RO .
3 outer circle. If C 1s @ p

? Ok G | AB 6926R, SIAIWG g
Cu@ @p 8 CO t : inner circle and CO L AB, then
PPEQ ENQTR 6060 @61 64. . ? what is the area of the shaded por-
tion in sqecm ?
A - B
\_ "/
_ B
A U
(A® 2(n+ 11)
(B)~2(9n —12.5) (A) 2(m+11)

1 (B) 2(9n ~12.5)
© 2@+ 1) 1
©) 2m+11)

1
K ©)) 3en+5)

113. 6QIGN IGRAUIGE R UG AR 113. A rectangular metallic sheet has
c@cly 48 6d. . 6 g9 36 6Q. &. | length 48 cm and breadth 36 cm.

QIR g6ou@ S19Q 8 6d. §. QIpdda From each of the vertices of it, a

_ 5 y - - square sh i i

P S W R, q eet of side 8 cm is cut off
and an open box is made from the
remaining part of the sheet. What is

the volume of the box formed in

QULIR LUFY IONER YR CHIN QUG
QUA AR | 900 AYER YILeR

@60 AR 64. . 699 ?

cubicem ?
o B (A) 3450
(C)4590 (C) 4590

P 5120 (D) 5120

OASHBMES [ RR\



114, O8 OQER, AABD2 BD Qip woea C

a4

-—
-

AB

)]

94 @ YN

M)

C xe

CD =AC, €962 m«BAD : m-ADB

R Q6T 689 7

-
- \
B o . D
(A) 2:1
Br3:1 .
€y 1:2
(D) 1:3
115. c01T ¢ 999ca 98 S0QI0 Qe

QIPQET 698 9F AARIP 89

2P ealoal 6008 69163 AN
Seee 6916 7°g 26oge QR6Ta6a
adal oF | QenIP 9d68gs 6960IT

2198 9Q6Q 0REC 629l ?
(Misalﬁ
> 0l X

© =@

o msé@ ;

O easnemet.

CD=

il B

114 In the given figure, C 1s a point on

D of AABD such thatAB = BC and

AC. Then what is the value of

m.BAD : m.ZADB ?

A

P

(A)
(B)
(C)

)

2:1

3:1
&

.

115. Two equilateral triangles are drawn

a two opposite sides of a square

lies

(A)
(B)
(©)
(D)

(57)

taken as their sides such that no part

of either of the equilateral triangles

in the exterior of the square.

Hence, into how many closed figures

is the square divided ?

Four
Five
Six

Seven

(Contiﬁuac;_)



116. 6 3 18 q QUIA AAIFLNDT 6R6Q 7

(A) 24

(B) 36
(C) 48

(D) 54

vd

117.

=27 /29 £9, 6069 \fa? b2 4 ¢

A AR 6R60 699 7
(A) 329

YL

(B) 81

‘/((:W 87
(g 89

118. gO6MIAT 9RR AAGO OF X B y FRIQ
Q9 x @ QI X, @ X, § 9"y Q Qe

Y, 9 Y, 7 08980 249, 6669 H6Ia

QAR CRIQ 6896 O ?
(5)/"13’1 ~Y

‘ B) xx=vy,
€ xy,= XY,

D) x=y, e X % ¥y

OA-1BAS1

QG 3a=4b=6c9e° a+b+c

(58)

116.

gl o

118

s T ot
N [ SET~B J
roportional of

What is the third p

6and 187

(A) 24
(B) 36
(C) 48
(D) 54

f3a=4b=6canda+b+c=27 29,

then what is the value of

Ja? +b2 1 c? ?
(A) 329
(B) 81
(C) 87

(D) 89

Thewariables x and y are related in
an inverse variation. If the value of the
variable x changes from x, to X, and
the value of the variable y changes
from y, to Y, then which of the
following statements is true ?

B Xy =y,
(B) x,=yy,
€)Xy, =xy,

(D) X1= y1 and X2 = y2

(Continued)



OTET -~ P-1l/16(2nd)
SET-B

119. P99 ABC @ 6601 AR9e aagee 119. How many adjacent supplementary

DR e " , shown
@€ UTR QQUAIRQIGS 7 MU ] oS IR N B

be drawn ?
A
A
C
C
B
B
(A) 1 (A) 1
(By” 2 v/ (B) 2
(C) 3 (C) 3

120. @& GQ6Q, CM ¥9° RN <2IQ6EH 120. Inthe given figure, CM and RN are
AABC 8 APQR @ gl | 9 APQR the/medians of AABC and APQR

~ AABC, 6069 f¢j8 6896 QoY ? respectively. If APQR ~ AABC, then

which of the followings is true ?

(A) AAMC ~ APNR

 (AY” AAMC ~ APNR \/

(B)- AAMC ~ AQNR (B) AAMC ~ AQNR

. (C) ABMC~APNR (C) ABMC ~ APNR

(D) ABMC ~ AAMC (D) ABMC ~ AAMC

[



Q< N@@
121, 6068 npadion aasaies ges 7
(A) Qg @ ael
(B) 60a ORIQERQ >
s (O) ol Qe
(D) @4&% a9
122. 6QQ 198 6Q9R QAT Qo §Idqal
@6Q ?
(A) eoar
(B) &l >
(C) =aeal
o(D).- QI8
123. 6906 A6YAR QIR 621Q @ &I ?
(A) eesa
(B) 410120
©Y acicaid

o(D) 601885

124. 60Q 9IG6Q UGRA TRAIIR Qg 64

Qaalea ?

(A) @@
- By <iQul
B
s . (g) go12998

v

OTET - PO 8N Ty

121. Which is not an adaptation of

xerophytes ?

(A) Absence of leaves
(B) Deep rooted
(C) Spongy stem

(D) Spinous leaves

122. Which organism does only respire by
lungs ?
(A) Frog
(B) Earthworm
(C) Cockroach

(D) Snake

123. Which.is not done by transpiration ?
(A)““Waterloss
(B) Cogling
(C) Ascentofsap

(D) Loss of nutrients

124. In which soil can less amount of

airenter ?
(A) Sandy
(B) Clayey
(C) Loam

(D) Humusrich



OTET - P-Il116(2nd)

125. ga¢ i :
8 e8QIal o 6P FRALER 125. What type of forest is seen in hot and
699 JRIQ RTR 6OFIQIg ? rainy climate prevailing throughout
the year?
(A) cogip

é o (A) Mangrove
By Sgenamg X

(B) Equatorial

(C) adsnier .
(C) Deciduous

D). @13
(DL~ fiodicaia (D) Temperate

126. 906@ G6RIT @8 §21QIad I 964 126. Three statements are given below.
Saei Alearner:

_ N (i) recalls the definition of energy
() 69Q Q°8 ORISR *2AIQET | :
correctly.

(i) Fo@ 98 6 90 93 Q2! (i) ~explains the difference

" & between potential energy and
diday @sladles |

kinetic energy.

(iif) + 696N @I 8 2R 9RIRIBR @) cites examples of the trans-

QIBRER A2 60RAIQEE | formation of one form of energy

. to another form.
cA8@ QEQAIGET BE @0l AUEAIS FIUQ |
Basing on the learning objectives

CREIGER 1P 646N O UK ¥ which of the above belong to one
@ ()6 (i) cafeqory 2

: (A) (i) and (ii)
JB) (050 (B) (i) and (iii)

("C) (i) @ (iii) (C) (i) and (iii)

(D) (i), (ii) and (iii)

©) (), (i) 8 (i)

- ' OA-1B/151 (&3) (Continued)



127

128.

129.

D)

0@ 981 68g6a 6o F8INN OR0
2NN @6m dRIed NIER SRINE 9719
QYORG AfIg FAUQIQTIESR ?
(A)G@ER B UIERISR

(B) 68QgE

g

(C) o8

(D) gog

6000 0] §6¢ 7

PIA%R ASTERS aaImIa Amie gq
qoa :

(A) FV09g 2GS 6QIR8I9

(B) 638% aseaidas soigeia X
(C)/gqag QA RIKNER Yo
6LIeelg

(R M8 iBTa coimeng
600 AT 6TBIPR ACAIRIS AP N
QREQ FEQER| @QUAN ?

(A) A9 eree QaIg aigrIea goe
@8eI’'d

(B)
&

a4 eeirieee 989 ddia qe

PQEHIR 62IR2’
(9)
§€iel’s

A9 BedIgense g8 ofard

QA * 1 B/ 51

A9 3% Aeg aievg fdel aig

(62)

127

128.

[ SET

By adopting which method of
. ,prnnmylnw,;

teaching science at the

&} J

feducation all the contents could be
0

2 1 P. :‘ "’
completed in an academic yeatr

(A) Demonstration and discussion

(B) Field visit
(C) Experimentation

(D) Project

Which one is notcorrect ?

The questions on science in the High
School Certificate Examination are !
(A) content-based
(B)

instructional objective-based

prepared basing on the blue-

d d a:nly subjectivity-based

129.

Who is considered to be a person

having scientific attitude T

(A) One who accepts everyone's

versions withouyt hesitation
(B) Onewho becomes rigid to es-
tablish own views
(C) One who listens to‘i others’
arguments patiently

(D) Onewho argues Irrationally

(Continued)



130. 689 AN Fqihea AR A abe

131

CHRG QB! B UIaeng) myIBe 906
UL QARG ?

(A) QORI

SRR

PIREAIG|

CARIAD AUl Q&9 aid cadd

A6 IQE ORG ?
(A)- OQIBE

(B)
(C)

gee a0q
2GR oy

(D) 9@ 491919

132. 60@ Q@G6Q P0a Q6aaq dIARH

FIRE0 42 Q°§a ?

(A) @9 A8906a ARSI qldey
6QHILIG |

(B) mé@@ eéem QAT B G QER
QI 29 | v

(C) @ea AIg BF 629 P& QIS |

(9 ﬁ!@é Q6@ ¥QIG METIQ A6 ¢

gge @sel

OA-1B/151

(63)

130.

131.

1aa:

OTET - P-11/16(2nd)
Which test 1s most suitable to
evaluate the learner's educational
competency and proficiency in

science 7

(A) Formative
(B) Achievement
(C) Diagnostic
(D) Aptitude

Which is the best method to

know the scientific truth ?
(A) Experimentation
(B) Book reading

Guess work
Teaching by teachers

In which statement is the character-

istics of water directly related to liv-

ing world ?

(A) Density variation is seen in the
atmosphere.

(B) Upon condensation becomes
ice and evaporation causes

vapours.
Tastes salty with higher
amounts of salts.

(D) Green plants use it to make

food.

(Continued)



133. Qdaionq San Tedl S198IgNY S8

134.

OA -

QadR QiGN QIR aaade
SeaIen! AIINE ANIG K6R | 6T9E
<0 d86 a8da 6QI8QE ?

QUOI6Q QIAEMY 62Q ANLE

A,

ERRIGIFY 622
(B) 6@lda 8 géiat RIGELQ!

(C) LRISRNI B YISl oIt €29

(D) 2G4 B REAIFIFS Ul

9IRS 629

6RQ6Eee 2gAIRe aleoiaead
UGS ?
(A) €6RITRQd, 8RR, AARFAR,

v

(B)/ﬂs@m, AIReQ, 649, JRAIG

REIAS!

(C) QBQ, Para, TS, AgeY
(D) @@, A@el, 0gaa1, JIRIPUSY

18151

(64)

133. Teacher complete

OTET — pP-ll/10(4nq)
SET-B )

d the different

stages of mitosis through discussion

after showing it from Doordarshan’s

Programme. What is the drawback

of this teaching method ?

(A) Because of difference in the

capability being understood
by all
(B) Awareness of technique and
method
Discussion and illustration be-

(C)

come simple
(D) Removal of false and fictious

ideas

134. Which are included in institutional

study materials ?

(A) Furniture, toys, utensils, clothes
(B) Models, maps, globe
equipment

(C) Plants, forest, insects, season
cycle

(D) River, soil, animals and birds

hills and mountains

(Continued)



142,

(B) AP CALWR. Qaia g

AQNE QP
QQLQ | -
O Baes, uee uieee e eade |

(D)

QR 06RIT 23 ATBISS -

dyes, 9g91e adena Qg

() QNS LBIAL =GR UeS 26E |

| 'megative ions are non-
(1) QYN8 SLSINR AR, wa

2SS |
(iii)

QARG 6LIRAIER |
QOEAIS RIQ :

(A) (i) 8 (ii) O " (i) g

By e (ii) g@ Q" (i) 6/$

(©) (), (i 8 (i) @

g (), (i) 8 (i) O°

qQ 28R, 9ealg dAl Ugea

OTET - P-1/16(2nd)

[ETB

141, Which statement is‘not correct ?

(A)

(B)

(©)

(D)

The change of seasons is
associated with the tilted axis
of the earth.
The change of seasons is
associated with the revolution
of the earth.

The leap year is associated

with the rotation of the earth.

The leap year is associated

with the revolution of the earth.

142. Three statements are given below :

(iii)

All positive ions are metallic.

etallic.

An ion may be converted into

an atom or a molecule.

Out of the above :

(A)

(B)

(C)

(D)

(1) and (ii) are correct and
(iil) is wrong

(i) and (ii) are wrong and
(ii) is correct

(i), (ii) and (iii) are wrong

(i), (i) and (iii) are correct



Ak ADUIAEA

143, 6060Q TgeR AGNG QWA 8L
QERRER Jaw B ?
(A) @@
(B) eqiRul
(C) &ieale

ZerQ@Ie]

144. 4@ A9 UQLIRER L6 |\/|O2 ees' 7

—~

<@ gorig 68 @8 Geqs AuQ 69T
oQ ?

(A) QFa QAR 6o MEs

2ee

(B) IgEa AIRCIaga A°6@e M, N,

S/

14139

v (C)

iz

AIPFQ RACLTA A°6RQ
M(N03)4?JGG‘
(D) duQFR TLETTQ A°6RQ

. MPO4 2ee

RN

143. The molecule of whic

144.

(SET-8B)

h one has the

maximum number of lone electron

pairs ?

(A) Water

(B) Ammonia
(C) Methane

(D) Carbon dioxide

The formula of a metallic oxide is
MO?_. Basing on this information
which one of the following is

correct ?

(A) Theformula of the carbide of the

metal is M02

(B) Theformula of the nitride of the

metal is M3N2

(C) Theformula of the nitrate of the

metal is M(N03)4

(D) The formula of the phosphate

of the metal is MPO4.

T~



145"

1486.

147.

© @

6R6G $I7 6561 g9 7
(A) NH,OH
(B). CH,OH
(C) LiOH

(D) RbOH

6TEIRQ ZIAPEE 66 AR Q6RRER
ard, G679 629 2Ianea 09 6Id
AP AEARER 21 ?

(A) 9ARTI9Q 2199
B «uqdadziog X
(P eaaIag 2Ine |

Q) gdcan zoe
QAFIoR J6N4 9616 QTEE 2191 9@ Qg

P66 B FIEL 696 F1GA AUEQ 67T

6R60IT @@ @Iy @ ?
(A) @

(B) g=

Oy <@

OA ~

8151

(69)

145,

146.

ad@

147.

OTET - P11 6(2nd)

Which one belongs to a different

class ?
(A) NH,OH

CH,OH

LiOH

RbOH

Which one of the following ions
contains exactly the same number of
electrons as that of the fluoride ion ?
(A) ‘Sulphideion

Calcium ion

Aluminium ion

How many forces in all act on a box
lying on a levelled cement floor when

pulled by a person ?
(A) One
(B) Two
(C) Three

(D) Four

(Continued)



148. G6% Genlc 98 QIR :

(i) 9aolI-Ac gIge Qg UY AL
AFIBR AQREAS 2166 1 42! goIN
60 9gf galagieq 2R |

(i) 696-209 ¢IgE A0 UY 9L
ACNRQ AQRERE LSS 1 421 YOI
60 g aqeada G EIR
2IQEI6R 23 |

(i) 9919 cdea ANCRIeEEd
Rgael @ga 96 QAIge A9
Q6% |

QUCAID FRIQ : \/

(A)~ (i) 8 (ii) O «e° (i) @m

(B) (i) 8% 4=° (i) 6 (i) @2

(C) 4_(i), (i) @ (iii) OQ

e © () ()6 ieR.
PR : *35;%»“ 3

148. Three statements

are given below:

iy The distance-time graph is a
straight liné parallel to the time
axis. Itindicates that the object
is at rest.

(i) The speed-time graph is a
straight line parallel to the time
axis. Itindicates that the object
is in motion with a constant

speed.

(iiiy The motion of an object with
uniform speed in a circular path
is not an accelerated motion.

Out of the above :

(A) (i) and (ii) are correct and
(iii) is wrong

(B) (iii) is correct and (i) and (i) are
wrong |

(C) (i), (i) and (iii) are correct

(D) (i), (ii) and (iii) are wrong



149. 60@6 OQ ?

150.

(D) 48m .

(A)

ZUIEMIND QAR A0 godas! e
PRI M 6986R ICRINE 66!

TR 61N

Qe RNe GRIIR0 0F 6Raa

v

QoY Qllg

20R QJE6Q 9g-9R0! QI8
QUiem Q89 gOan-9acl Qds
el

ANOR-2R9R 6MAE QI Q9L
Pl NQ° Qg9 gaan <09

622N

4@ 98919 FIREA 68] 66 @A

8ms 20 (1o G 6aR 49° 3 626RAEA

F1Q8 Aareqig AR | N8 A F1RI6Q

QIQE 6960 9o ATRA PR 7

(A

12m

(B) 24m

(«©) 38 m

UIE 1l —P-II16(Znd)

149. Which one is correct ?

150.

(A)

(B)

(C)

(D)

If the absolute refractive index
of an optical medium is more,
the speed of light in it shall be

more
The triangular face is the

refracting surface of the glass

prism

In a concave mirror as the
object-distance gradually
decreases, the real image
distance gradually increases

Both virtual and real images are

formed by a plano concave lens.

On applying brakes retardation of

8ms > was produced in a moving car

and it stopped in 3 seconds. How

much distance is covered by the car

during this time ?

12m

24 m

36 m

48 m

(C.antiniiad)



